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Use the information provided to write the standard form equation of each hyperbola.

l) -4y 2 + 8x- 16y- 100=0

P 1004-

( 
1 + 4 ) 

z

100 too 100

_ 19+21' = /
too

3) -x2 + 16y2 + 14x- -49 -O

-I(xa - 

— (x-7)z = J

5) 4x2 - 49y2 - 72x+ 68 = O

— 108 +

2) x2 - + lox - 72y- -O
xa+ 3qq 4

/DX4--2Z -4

too
(X +5 P - Lgtq)L_

4) —x2 + — 6x — 209 = 0

l..}Dy2 2.0 q +

-119)

1+bqz— ( 1±3) L z ZOO

200 2-0 Dzoo

zoo

6) 4x2 -3y 2 +24x+48y-216=O
_ 3q2 +

L+6(4-18uEL) ) 08+41") + -IRI%') 2-- GO'H 313-9

(Y-q)z-e (5-2).

7) 64x2 - 9y2 -384x + 72y- 144 = O

X+__ —qq2 -t

I'+(KZ - Vt+&) -qtu2- 

9) -25x2 +9y2 - 225 -O

8) -1 + 8y2 - 88x+ 160Y+ 184=0

-911b)

(Y+10)a_

90

10) -4x2 + - 16x+ IOOy-316=O

qy*+qoyq ----2Sßsa -16 OR+__- 225 + _

q -25(na- ) )
+ 49 q t ex *2...)

24tqtz)a 460
( X- 22.5 40 0 400

aas
LV2)z

1b


